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There is a typo in the question Figure P2.11
The 2nd sighal is xo(t) not xe(t) '
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# x0(-t)=-xo(t) —>symmetric w.r.t origin
=> X0(t<0) is the reflection of xo(t>0) w.r.t origin
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# xo(-t)=-xo(t)—>symmetric w.r.t origin
=> xo(t<0) is the reflection of xo(t>0) w.r.t origin

There is a typo in the question Figure P2.11 
The 2nd signal is xo(t) not xe(t)
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AN, #xe( t)—xe(t) >symmetr|cwrtt 0 line
=> xe(t<0) is the reflection of xe(t>0) w.r.t =0 line
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for t >= 0

(left limit)

(right limit)

# xe(-t)=xe(t)—>symmetric w.r.t t=0 line
=> xe(t<0) is the reflection of xe(t>0) w.r.t t=0 line
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